CONVERT UNITS OF MASS

kilogram

© Convert 4 kg to g.
4kg={"]g
“9::;;;309 gy, 05
4kg=[4000g

@) state 2kg 500ging.
2kg500g=[ g

2kg£009§:2 kg=2000g
500 g

2kg500g=2000g+500¢g
= 2.5009

2kg 5009 =(2 500

102000 g.
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@Whmlsﬂ'nemuss of a Rafflesia flower in kg? (TOMQBWJ
divide by 1 000
S 7 000g=(" kg L
7000g=(7 000 + |1 000) kg
=7kg
7000g=[if|£gj
(The mass of a Rafflesia flower is 7 kg.| | \

70004

@ Convert the mass of an osirich egg
tokgand g.

1400g=[ Jka g

| 400 g =1 000 g + 400 g ,c.i)
= Ikg+400g
=1kg400g

| 400 g=(1 kg400g]
P’he mass of an ostrich egg
is 1 kg 400 g.

Convert the following units.

?

-g C kg -kg-g
©okgsg= g ©go0g= ke Jyg
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